Math 1172 - Autumn 2015 : ~ Name:

Quiz 2 - Take Home Recitation Instructor:

SHOW ALL WORK!!! Unsupported answers might not reéeive full credit.

Problem 1 [4 points] Consider the region R bounded by the graph y = —z2 42z and

the z-axis. 2

TSy vax = -feax )+ =0 vy
a) Find the volume of the solid of revolution formed by revolving the region R about the
line z = 4.
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b) Find the volume of the solid of revolution formed by revolving the region R about the
line y = a where a > 1 is a constant.

(]

WM“Q"‘ \[V\e’tl'lo A
AN

\
,J Ve L(: S T(_[(bw}w vrct—o\-‘v‘\sgL - (\"'\M rouing )1 X . X)

M 7— X

| = K[CL - (a- (~><"+zx)) l 4

Jo A ‘—“”'[j*q e iR [ ’ |
o ’ aner rad o 2 " ; N ‘
g = G = x& X4 - ata)x o TR o %

s N ‘y: 2 X o 2
q 2
7 (- 24&: + X ..2_&1’3’i>(3+2ﬁ.3( ) }

OO T - (oK)

¥y

1

6 -

}  ga. M

- (5 )
c) Find any values of a for which- the volume of the solid in part (b) is the same as the
volume of the solid in part (a). You may use a calculator and approximate any answers
to two decimal places. 3o '
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